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Do dominant and non-dominant

Wethiod: To find out which hand hands have different Conelusion: Although on average,

rules, we had pecple catch aruler, 3 5 < the dominant hond had o quicker
times per Iun:_ We flipped a coin to reaction fimes reaction fime, the dif ference
decide which hand would ga first. We when catching a ruler? wasn't very big, which surprised
found the mean catching distance ! = == us. There wene even a few people
(reaction time) for each hand. — with a faster non-dominont hang.

Non Dot N*D Domnant | _ . Dorinant: vs. NoDomisert Crahn

i Rl

elefthankeezon
L2 R'.gld handerr-go%

The cot plot shaws the difference
between the catehing distance (hand
speed) averages for Non-Dominant and
Dominant hands, We tested 20 students,
We naticed that mere people (16), have a
m r:“mm time with their dominont ’
hig the rler below their . kg s
Non-Baminant hand. The most common L :miy -‘i'dmuw

becouse We Use our nak-
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Informative Ratnbows malke

day, Lnvesives don’|

Q: What has the DNR dane to Q: Why is such a tiny fish invasive?
control invasives? A: The rainbow smelt eat yellow perch
A: The DNR has done research and wn_"ﬂga eggs, so they can't reproduce]

and has gotten grants to do
experiments. There is one experiment
in progress for the rainbow smelt.

Q' What does invasive mean?
A: An invasive is a plant or animal
that are introduced to an
environment their not suppost
5*0 be in.

@ What does the rainbow smelt look
like?

A: The rainbow smelt's bedy is silvery and
shiny with pale green, blue, purple, pink
and silver stripes on their sides. Their
average weight is 85g (30z) and average
length is 23cm (7-9in).

: How can the community help stop

the spread of AIS?

A: The best way to help contrel the

e | 4 spread of ALS, is to not use it as live
“\( . |baitand clean your boat after u

Easy to read




Pictures and
Captions
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